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QUESTION 1

A customer has a partitioned system running IBM i. The customer is considering a new system to replace the existing
system and wants to add new WebSphere and Linux workloads.

Which of the following will assist in sizing the new system?
A. System Planning Tool (SPT)

B. nmon_analyzer

C. Performance Management (PM) for Power System

D. Workload Estimator (WLE)

Correct Answer: A

QUESTION 2

An AIX customer has a Power System E950 connected to a V9000 in one location. The customer is planning to
purchase another Power System E950 and V9000 that will be installed 25 miles (40 km) from the primary location.

Which product would enable the applications to start at the secondary location, if any of the VMs failed at the primary
location?

A. PowerVM Standard Edition
B. PowerVM Enterprise Edition
C. PowerHA Standard Edition
D. PowerHA Enterprise Edition

Correct Answer: C

QUESTION 3

A customer has a significant investment in open source software for performing in-memory analytics. This workload is
currently deployed on Linux and recent x86 hardware.

What advantage would a POWER9 processor-based server provide this customer?
A. Faster ChipKill correction rate

B. More cache per core

C. More cores per socket

D. Faster PCle bandwidth

Correct Answer: C
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QUESTION 4

Which IBM product is used to create, deploy, and manage virtual machines?
A. PowerSC

B. PowerVC

C. PowerHA Enterprise Edition

D. PowerVM Enterprise Edition

Correct Answer: B

QUESTION 5

What is the minimum amount of rack space that an 80 core Power System E980, without any I/O drawers, will take up in
a 19 inch rack?

A. 10U
B. 12U
C. 16U
D. 8U

Correct Answer: D
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